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BERNRE

RHBEE RS B(KET U R) R (-9m)MARR R ET o0 1 44

% [ B - BAIKTE B = fifl ® % =
BRI 14,161, 207
AR 14,161, 207
HERERET SN 14 14,161, 207
HERERET SN 14 13, 751, 700
EREtETE 137, 300
1 EREtaEtE 1.00 137, 300 137, 300
=
EREHEHRGE 837, 800
2 BRETEMETE 1.00 837, 800 837, 800
=
BRHEE 3, 892, 000
3 EEEEE (1) 1.00 2,108, 400 2,108, 400
=
4 BFEtE (2) 1.00 1,783, 600 1,783, 600
=
R 320, 700
5 fFHHERETE 1.00 181, 600 181, 600
=
6 fHhEsRBER 1.00 139, 100 139, 100
=
HESE (MAREREH 338, 000
1T HEHE 1.00 338, 000 338, 000
=
HEER (HERERED) 2,730, 400
8 HmEERL 1.00 2,730, 400 2,730, 400




EENRE RN B RS B (K TETE MR ) 2 BE (-Om) MR SRS+ 411 4

HEHE (EEHRH 1, 845, 500
9 MEHE 5.00 369, 100 1, 845, 500
247
HEER (EREHE) 2,647,000
10 EmEERL 5.00 529, 400 2,647,000
247
i - |mE 223, 800
11 #:& - |E 3.00 74, 600 223, 800
[=]
BE 217, 200
12 B&E 1.00 217,200 217, 200
=
&S 562, 000
13 S|REEER 1.00 562, 000 562, 000
=
EEEE 409, 507
EHAME 133,107
14 EBEAME 1.00 133,107 133,107
=
&S 240, 000
15 ¥BRRSR 1.00 240, 000 240, 000
=
REE 36, 400
16 fETRERE 1.00 36, 400 36, 400
T




RHBEE RS B(KET U R) R (-9m)MARR R ET o0 1 44

% g FE - ksHiE B £ fifi ® & i
BRI 13,751,700 + 409, 507 14,161, 207
EEAGE 13,751,700
EERE 409, 507
Z O fth IR 13,751,700 x 53.85% ( 35% = (1 — 35%) ) 7,405, 290
RBIRM 14,161,207 + 7,405, 290 21,566, 497
—REBES 21,566,497 x 53.85% (35% + (1 — 35%) ) — 55 11. 613,503
KBS 21,566,497 + 11,613,503 33, 180, 000
HEBRERLE 33,180,000 x 10.00% 3,318,000
RBZRTH 33,180,000 + 3,318,000 36. 498, 000




KR -/ \vr—>

FIBEERD BREREME)FE-ImMERERE S 14

=1
B F  BRETETE XLy
% 7 g - BIRTE B3 £ B i & # 5 &
EX T TC )
A 1.50 57, 400. 00 86, 100
A (A)
A 1.00 51, 200. 00 51, 200
& it E%¥HEH 1,00 137, 300. 00 137, 300
&S :2
B RETEMERTE XLy
% 7 g - BIRTE B3 £ B i & # 5 &
EX: T TC D)
A 3.00 57, 400. 00 172, 200
A (A)
A 3.00 51, 200. 00 153, 600
A (B)
A 5.00 40, 600. 00 203, 000
HEm (C)
A 5.00 32, 800. 00 164, 000
Hftt &
A 5.00 29, 000. 00 145, 000
& i fE%¥HEH : 1.00 837, 800. 00 837, 800
&S :3
& ERARETE (1) XLy
% 7 g - BIRTE B3 £ B i & # 5 &
EX: T TC D)
A 2.00 57, 400. 00 114, 800
A (A)
A 16.00 51, 200. 00 819, 200
A (B)
A 16.00 40, 600. 00 649, 600
HEm (C)
A 16.00 32, 800. 00 524, 800
& it fE%¥8EH : 1.00 2,108, 400. 00 2,108, 400




KR -/ \vr—>

FIBEERD BREREME)FE-ImMERERE S 14

&S 4
& EARETE (2) XLy
% 7 g - BIRTE B3 £ B i & # 5 &
EX T TC )
A 2.00 57, 400. 00 114, 800
A (A)
A 16.00 51, 200. 00 819, 200
A (B)
A 8.00 40, 600. 00 324, 800
HEm (C)
A 16.00 32, 800. 00 524, 800
& i E%¥HEH 1,00 1, 783, 600. 00 1, 783, 600
5:5
B AERRATE XLy
% 7 g - BIRTE B3 £ B i & # 5 &
A (A)
A 1.00 51, 200. 00 51, 200
A (B)
A 2.00 40, 600. 00 81, 200
HEm (C)
A 1.50 32, 800. 00 49, 200
& i fE%¥HEH : 1.00 181, 600. 00 181, 600
5:6
B AEHEERE R XLy
% 7 g - BIRTE B3 £ B i & # 5 &
A (B)
A 1.50 40, 600. 00 60, 900
HEm (C)
A 1.50 32, 800. 00 49, 200
Hftt &
A 1.00 29, 000. 00 29, 000
& i fE%¥HEH : 1.00 139, 100. 00 139, 100




KR -/ \vr—>

FIBEERD BREREME)FE-ImMERERE S 14

=5:17
& BEFHE 1X&Y
4 g K - BIRTIE B4 = B @ & & w &
AR (C)
A 5.00 32, 800. 00 164, 000
B8
A 6.00 29, 000. 00 174, 000
a8 g 1EZ£8EH : 1.00K 338, 000. 00 338, 000
=5:8
4 g K - BIRTIE B4 = B @ & & w &
A (A)
A 2.00 51, 200. 00 102, 400
B (B)
A 20. 00 40, 600. 00 812, 000
AR (C)
A 20. 00 32, 800. 00 656, 000
B8
A 40. 00 29, 000. 00 1,160, 000
a8 g 1EZ8EH - 1. 00K 2, 730, 400. 00 2, 730, 400
=:9
&2 EHE 15474y
4 g K - BIRTIE B4 = B @ & & w &
B (B)
A 1.00 40, 600. 00 40, 600
AR (C)
A 2.50 32, 800. 00 82,000
B8
A 8.50 29, 000. 00 246, 500
a8 g 1EEEN :1.005 14T 369, 100. 00 369, 100




KR -/ \vr—>

FIBEERD BREREME)FE-ImMERERE S 14

H5:10
2% EEER 12474y
4 g K - BIRTIE B4 = B @ & & i &
B (B)
A 1.50 40, 600. 00 60, 900
AR (C)
A 5.00 32, 800. 00 164, 000
B8
A 10. 50 29, 000. 00 304, 500
& B 1EZBEN :1.005 14T 529, 400. 00 529, 400
#5511
& - BE 1MmEY
4 g K - BIRTIE B4 = B @ & & i &
FEHERAR (BEH
A 0.50 57, 400. 00 28,700
A (A)
A 0.50 51, 200. 00 25, 600
B (B)
A 0.50 40, 600. 00 20, 300
& H) YE¥EREA : 1.00E 74, 600. 00 74, 600
H5 :12
4 g K - BIRTIE B4 = B @ & & i &
FEHERAR (BEH
A 2.00 57, 400. 00 114, 800
BEm (A)
A 2.00 51, 200. 00 102, 400
& H) 1EZ£8EH : 1.00K 217, 200. 00 217,200
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FIBEERD BREREME)FE-ImMERERE S 14

H5 13
B MEEERK 15ty Y
£ 7 R - AT B = B Of & £ 5 &
F1EBER GEED
A 2.00 57, 400. 00 114, 800
AR (A)
A 3.00 51, 200. 00 153, 600
AR (B)
A 4.00 40, 600. 00 162, 400
HAf (C)
A 4.00 32, 800. 00 131, 200
& H) 1EZ£8EH : 1.00K 562, 000. 00 562, 000
H5: 14
&% BEHRARE 1ty
£ 7 R - BARTE B = B Of & £ 5 &
EHARE
= 1.00 133, 107. 00 133, 107
& H) 1EZ8EH - 1. 00K 133, 107. 00 133, 107
H5 : 15
B EBBRR 1ty
£ 7 R - AT B = B Of & £ 5 &
EBHRRE
= 1.00 240, 000. 00 240, 000
& B 1EZ£8EH : 1.00K 240, 000. 00 240, 000
5:16
2% EIERERAE X5y (15
£ 7 R - BARTE B = B Of & £ 5 &
E-AYUTHRE
I 1.00 36, 400. 00 36, 400
= B 1EZ8EH : 1.00T7& 36, 400. 00 36, 400




